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GCSE  Answers to examination-style questions




	Answers
	Marks
	



	1 
	a   Diagram must show direction of 
wave travel.


 Diagram must show direction of 
vibration perpendicular to direction of      wave travel.
b
Diagram must show direction of 
wave travel.


Diagram must show direction of 
vibration parallel to direction of wave travel.
	2
2
	

	2 
	A
amplitude 
3

B
frequency 
4

C
wave speed
1

D
wavelength 
2
	4
	

	3 
	A
It is a virtual image.
	1
	

	4 
	a
refraction
b
Diagram B
	1

1
	

	5 
	Diffraction, when the gap is of the   same order of magnitude as the wavelength.
	2
	

	6
	    Similarity: They can both be reflected, refracted, diffracted.

   Difference: Light waves are much faster /sound waves are much slower OR light waves are transverse/sound waves are longitudinal.
	2
	

	7
	v = f × λ so 256 × 1.3 = 333 m/s
	2
	

	8
	a
i
Any example using a mirror/water or a shiny smooth surface.


ii
Any example of an echo.


iii
Any example using a lens, e.g. spectacles, cameras.


iv
Any example of hearing a sound around a corner.

b
b The wavelength of light is very  small, so diffraction only occurs 
when light passes through a very narrow gap.


OR


The wavelength of light is very small, so the diffraction effect is very small.
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	9
	Wave speed = frequency ( wavelength

Frequency =
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 EMBED Equation.3  [image: image2.wmf]

 EMBED Equation.3  [image: image3.wmf]
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Frequency = 200 000 Hz
	3
	

	10
	There is a clear, balanced and detailed description of how the wave form would change including increased amplitude and frequency. The answer shows almost faultless spelling, punctuation and grammar. It is coherent and in an organised, logical sequence. It contains a range of appropriate or relevant specialist terms used accurately. 
   There is a description of at least one of the ways in which the wave form would change. There are some errors in spelling, punctuation and grammar. The answer has some structure and organisation. The use of specialist terms has been attempted, but not always accurately.

   There is a brief description of at least one way in which the wave form would change, which has little clarity and detail. The spelling, punctuation and grammar are very weak. The answer is poorly organised with almost no specialist terms and/or their use demonstrating a general lack of understanding of their meaning. 
   No relevant content.

Examples of physics points made in the response:
•   louder sound means larger amplitude
•   so height of crests increases
•   depth of troughs increases
•   speed is constant
•    higher pitch means higher  frequency
•   so wavelength becomes smaller
•   crests are closer together.
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